MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION . T (786) 3135-2590 F (786) 315-2599
NOTICE OF AC CEPTANCE (NOA) www.miamidade.gevieconomy

Nana Wall System Inc.

707 Redwood Highway

Mill Valley, CA 94941

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER -Product Contro] Section to be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHT).

This NOA shall not be valid after the expiration date stated below, The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series “SI-73” Aluminum InSwing Folding Doors-LMI

APPROVAL DOCUMENT: Drawing No. 1636 A, titled “SL-73 In-Swing Impact Folding Panels”, sheets 1 through 8
of 8, dated 11/23/09 and last revised on DEC 19, 2011, prepared by W. W. Schaefer Engineering & Consulting, P.A.,
signed and sealed by Warren W, Schaefer, P.E., bearing the Miami-Dade County Product Control Revision stamp with
the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact

Limitations:

1, ADA/Flush Saddle Doors are not approved for water resistant unless complies w/ FBC requirements.
2. Max panel width= DLO width+8.125”

L ABELING: Each unit shall bear a permanent abel with the manufacturer's nanie or logo, Richmond, CA or
Bissendorf, Germany and following statement: "Miami-Dade County Product Control Approved”, unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in
the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and shall
be available for inspection at the job site at the request of the Building Official.

This NOA revises #11-1024.04 and consists of this page 1 and evidence pages E-1 & E-2, as well as approval document
mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No. 14-0428.03

Expiration Date: August 11, 2015
Approval Date: July 10, 2014
Page 1




Nana Wall Systemn Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

L. Manufacturer's die drawings and sections. (Submitted under files # 11-1024.04/#10-0322.18)

2. Drawing No. 1636 A, titled “SL-73 In-Swing Impact Folding Panels”, sheets 1 through 8 of 8,
dated 11/23/09 and last revised on DEC 19, 2011, prepared by W. W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

TESTS (submitted under files # 11-1624.04 /#10-0322.18)
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Small Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
Report No(s). 91081.01-301-18, dated 12/15/09, signed and sealed by Joshua M. Royce, P.E.
Note: This test report has an addendum letter issued by Architectural Testing, signed and sealed by
Michael D, Streminel, P.E.
{The test report has addendum letter dated Oct 06, 2011, related to glazing bead & gasket material &
marked-up Dwgs, issued by Architectural Testing, signed & sealed by Tyler Westerling, P.E.)

CALCULATIONS (submitted under files # 10-0322.18)

1. Anchor verification calculation, complying w/ FBC 2007, prepared by W. W. Schaefer Engincering
& Consulting, P.A., dated March 16, 2010 and revised on June 08, 2010, signed and sealed by
Warren W, Schaefer, P.E.

2. Glazing complies w/ ASTME-1300-02 & -04

QUALITY ASSURANCE
1. Miami Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS

I Notice of Acceptance No. 11-0624.02, issued to E.I. DuPont DeNemours for “SentryGlas
Interlayer”, expiring on 01/14/2017.

2. Test report No. 60520.01-106-18 dtd 11/09/06, issued by Architectural Testing for © Tecatherm 66
GF (insul bar material) for Xenon Arch weathering per ASTM G-55, tensile test per ASTMD-638,
smoke density per ASTMD-2843, rate of burning per ASTMD-635 & self-ignition test per ASTMD-
1929, signed and sealed by Joseph M. Brickner and Todd D. Burroughs.

3. Marked-up Tremco (EPDM) technical data sheet, issued by Architectural Testing.

b, s/ c
Eitir’é&“"’a% %‘z LE’L%\‘!&:‘%
tIshaq T. Chanda, P.E,
Procduct Control Examiner
NOA No. 14-0428.03
Expiration Date: August 11,2015
Approval Date: July 10,2014




Nana Wall System Ing,

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

F. STATEMENTS (Items 3, 4 & 5 below submitted under file # 11-1024.04)

1. Statement letter of conformance to FBC 2014(5™ Edition) and letter of no financial interest, prepared
by W. W. Schaefer Engineering & Consulting, P.A., dated April 15, 2014, signed and sealed by Warren W,
Schaefer, P.E.

2. Statement letter, prepared by W. W. Schaefer Engineering & Consulting, P.A. dated April 10, 2014,

- of NOA Drawings and testing have been reviewed to 2014 FBC and found compliant and that No
change to existing NOA docunents are required, signed by Warren W. Schaefer, P E.

3. Statement letter of contormance to FBC 2007 and FBC 2010, prepared by W. W, Schaefer
Engineering & Consulting, P.A., dated OCT 18, 2011, signed & sealed by Warren W, Schaefer, P.E.

4. Distribution agreement between Solarlux Nana Mfg, LLC, Richmond, CA and Nana Wall System
Mill Valley, CA.

5. Distribution agreement between Solarlux Nana Mtg. LLC, Bissendorf, Germany and Nana Wall
System Mill Valley, CA.

6. Lab compliance as part of the above referenced test report.

G. OTHER
1. This NOA revises #11-1024.04, expiring AUG 11, 2015,
2. Test proposal # 09-0568 dated May 26, 2009, approved by BCCO.

! vob s %,
i {)L'L%‘H s Mﬁe&.tfzs.w_
Ishaq L Chanda, P.E,
Product Control Examiner
NOA No, 14-0428.03
Expiration Date: August 11,2015
Approval Date: July 10,2014

E-2




CHECKED &Y:

T e A Ol
* ] . LIN A A
155 13/16” MAX, FRAME WIDTH ANE%IR INSTALLATION OF ANY OTHER PRODUGT NOR VAY |{mimT: Tommes
opdi oOR, Sl e sk e, v o . /o AL 7 A S O L
Al SHOWN I THE "ALLOWABLE DESIGH PRESSURE TABLE(S). 57 MAX. — I" H%H%%H’ & S A 2 R A ﬂ =5 MAX. RIATED G HEE Boinigm. o o e o o
4l 2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE 1711 57 1111117 | CORMER CONSTRUCTION: ul§
. PROPg%gc]QSFSEIEGNED & INSTALLED TO TRANSFER WIND LOADS TO ' 7 VVVVV_’VV LrAYAYA AT ATATA ATATAVR AT AT v g Vi T , VEUBERS ARE. MITERED a ‘é\
i THE . A . : : \
H| 3. AL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE - l =18 Ki BUTTED 4 JOINED VA {2YTWO CORNER KEYS (IEM #12) FACH 3
T WITH THESE DRAVINGS & SHALL NOT VARY UNLESS SPECIFICALLY ,_J % % // CORNER KEY IS SECUR%C? WITH (2)11”0 ﬁﬁ/iﬁ(' X 354'} BRASS & g
MENTIONED ON THE DRAWINGS. ~SPECIFIED ANCHOR EMBED 10 —J CONE PINS. CORNERS ARE SEALEC WITH SWICONE SEALANT.
5 e DEIALS & SPECIHERIONS ot oEon Fepesar O o FLUSH_SADDLE, SILL; MEMBERS ARE SQUARE CUT, BUTIED & .18
b = ERD TR {3)THREE 1/8" X 5/8" FHIF olg
THE PRODUCTS TESTED & PROPOSED FOR WATER, AR, MPACT, & 55 d OPPOSITE orposite | {1° o o EHD AP (g)wfo( ) T x sﬁa" A ]
CTCLC o NRIFORM STATIC AR FRESSURE TESTHG N S« BN T 7o 8 AT THE VERTICAL MEMBER. CORNERS ARE SEALED WITH A e
CONFORMANCE WITH THE FLORIDA BUNDING CODE PROTOCALS = O = CUSHION WEAT!-IERéTRIPPi:\‘IG ﬁ g
TAS-201, 202 & 203 FOR 1ARGE MISSILE [MPACT DOORS. =z < A \5/ ~ \&5/ ~ \5/ RALL 70 STLt: HUMBERS ARE MITERED, BUTIED & Jome vis 121 3
B COROAICE T MY, HAVE, BEEN OESIGNED I = ’ s ———— - A 2)TWO CORNER KEYS (ITEM #13 & #14) WHE CORNER K IS 1|8 8
ACCORDANGE W(TH AND MEET THE REQUIREMENTS OF THE = (2) R KEMS (T J10 & f4) THE CORNER KEY g
FLORIDA BUILDING c{oos {F6C) INCLUDING HIGH VELOCITY == S SECURED BY GRIIPING ()0 LEGS . : %
HURRICANE ZONES {HVHZ). = . ’ 5
6, IMPACT SHUTIERS m}: NOT REQUIRED WHTH YHESE DOORS. S ° N @—\ ] /_@ L - i (1) ALLOWABLE DESIGN = g
7. ALL ANCHRORS SECURING BOOR FRAME 70 PRESSURE £ HINGE g LGCK - . Siz
TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF sy 3 j ] 12" MAX. PRESSURE WITH ADA SILL
| RESISTING CORROSION CAUSED BY THE PRESSURE TREATING b =~ = | /‘@ 0.0
gHE'gg?§M=ﬁEI¥EEWSggM & NEGATVE DESIGN LOADS T0 USE W) & &0 B HARDLE PRDLE < MAX, MAX. ALLOWAGLE
WHEN REFERENCING THESE DOCUMENTS IN ACCORDANCE WitH = B o g’ f FRAME D.L.O. } PRESSURE I
THE GOVERNING CODE AND GOVERNING WIMD VELOCHY, FOR & R HEIGHT WIDTH (PSF)
WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE fLORIDA & ¥ o MIDDLE ANCHOR SHOWN AT (M) (IN.) POS. | NEG o
BE APPLIED PER THE ASCE-7 STAHDARD. = 31 578 | 70.0] 70.0 £x3
9, NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN =3 IS ONLY REQUIRED WITH SINGLE : AET
L S T N S GO 1 2 F0 ACHOR CONDTON (1 00 178 2238 {75070 22°x
FACTO = 4§, A d A
10. MATERIALS, THCLUDING BUT NOT LIMITED O STEEL SCREWS, L o > WITH DOUBLE ROW ANCHORS) a4 q 25 3/8 | 82.5] 82.5 E SO%
THAT COME INTO COMTACT WITH GTHER DISSIMILAR MATERIALS 0 o o 1 22 3/8 {90.0] 90.0 O 19
SHALL MEET THE REQUIREMENTS OF FLORIA BULOING CODE » HI y : p | Py \ 313/8 | 745] 745 e Eﬁ?
CHAPTER 20. o I . .
b,[ // i / I | /’ g 28 3/8 | 80.6] 80.6 i §§J‘;"8
HINGE REQUIREMENTS B Y1 — — Aaaé,z;AA 4" MAX. 93 7/8 == 3/8 | 87.8| 87.3 LE” .
sy AALNLNA &S A . R =
| 5 PER PANEL (ALL PANEL SIZES) SEE CORNER—""" o ¢ f 24 3/8 | 90.0{90.0] | & gszz
PLACED APPROXIMATELY 5" & 13" FROM|  CONSTRUCTION ) e Y 31 3/8 | 79.6] 79.6 o §
TOP & BOTTOM & AT MIDDLE OF PaNEL|  DESCRIPTIONS 87 7/8 | 28 3/8 | 86.1] 86.1 £ 2
ON THIS SHEET . FRAME SCREWS WHERE 26 3/8 |900|o00| | 3
FRAME_ANCHOR REQUIREMENTS TABLE LILRIOR. ELECATION, SHOWN. SEE "FRAME 31 3/8 | 844 84.4 .
. - * . a =
VTS (2 DIRECTIOEN FOLDING PANELS) ANCHOR REQUIREMENTS 82 7/8 ‘55578 | 90.0] 90.0 5 s
FRODUCT NF: 1/ = 1 TABLE" ON THIS SHEET-- : - L1 oo "
OPENING TYPE FRAME 7O OPENING FASTENER TypE  |MINIMUM| MINIMUM ;’um%‘:i“%qaﬁ' i _ FOR REQUIREMENTS (1) WHEN AN ADA/FLUSH SADDLE =] 28 _
” L gy 250y APPLICABLE TO SINGLE SILL IS USED, THESE DOORS ARE [
(SUBSTRATE) EBED [EDGE ST Aceeptomce No /7 2% 2, % UBLE ROW OF NOT APPROVED FOR USE WHERE o S8
Date_ izt 1, Zel R DO Zzl 22
(1) SINGLE_SCREW ROW Explration Date. 4115 1Ly -2 f SCREWS). WATER INFILTRATION RESISTANCE slo %;
MIN, 2X4 WOOD FRAME OR BUCK , , . L | sy Ll e IS REQUIRED BY THE DOOR N W
(MIN. GR. 3 & G=0.55) NO. 14 SMS OR WOOD SCREW |1 1/4 3/4 bdagad D de ' UNLESS UNITS ARE INSTALLED IN “ z | g 387
WIN. 16 GA. 33 KSI METAL-STUD 1/4” GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" NON--HABITABLE AREAS WHERE o | S 55
WIN. 1/8" THK A6 SIEEL 1/4 GR. 5 SELF TAP/DRILL SCREW | FULL | 1/2° ALLOWABLE DESIGN PRESSURE WITH STANDARD SILL oy & TE AREA JRE ] =5 Egg
MIN. 1/8" THK 6063-T5 ALUM. 1/4" GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" MAX, MAX. ALLOWABLE PRESSURE (PSF) INFILTRATION -OR THEY ARE = ggg g8
MIN. 2500 PSI CONCRETE (2 1/4" CONCRETE SCREW 11/2" | 2 172" || HEGHT | WIDTH | oPTION OPTION OPTION OPTION | FOR GILASS PROTECTED BY A CANOPY OR N P |
DOUBLE SCREW ROW Ny 1 ON) 13 &4 2 5 6 | oprons OVERHANG WHERE—BY THE 2 [5za
MIN. 2X6 WOOD FRAME OR BUCK POS. | NEG. | POS. | NEG. | POS. | NEG. | POS. | NEG. OVERHANG(OH) RATIO IS EQUAL 1,3 |
@) .(MIN. GR. 3 & G=0.55) NO. 10 SHMS OR WOOD SCREW 1 1/4" /4 31 3/8 170.0{100.0}70.0187.4 70,0 |94.3 | 70.0 | 99.8 T0 OR 'MOR;E THAN 1.0 PER FBC - b
. 28 3/8 1758 1108.2| 75.8 [105.0] 75.8 |108.2] 75.8 [108.2 A CHAPTER 24. = A
MIN. 18 GA. 33 KSI METAL STUD NO. 10 GR. 5 SELF TAP/DRILL SCREV| FULL 1/2 99 5/16 25 3/8 1800 1100180.0 170.6180.0 110.01 800 1051  FREVUCT RENEWES 5 g‘i‘
MIN. 1/8" THK A36 STEEL NO. 10 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" - . : - . : - : 83 complylag with the Floride NULILTT7R g A
o = 22 3/8 180.0 |110.0}80.0 [110.0] 80.0 [110.0] 80.0 }110.0 : Code 4% ®Yy 7, o By
~ MIN. 1/8” THK 6063~T5 ALUM. NO. 10 GR, 5 SELF TAP/DRILL SCREW| FULL 1/2 31 3/8 1765 [106.4] 74.5 [ 95.0 [ 745 1000 74.5 (108.6]  Asewstanes No 1= /02t 0% e ¥ 334, %, s {72
MIN. C~90 CMY 9) 1/4" CONCRETE SCREW o2 | 93 5/16 [ 28 3/8 |800i10.0[80.0 107.0] 80.0 [110.0] 0.0 [10:0] "THrter oY/ 7L QI YO KO 1§ =
MIN. 2500 PSI CONCRETF. (9 1/4" CONCRETE SCREW 1.1/2" 2" : . : : : : : =1 By STL 0 n g &
; 25 3/8 1800 [110.0]80.0 |110.0] 80.0 [110.0]80.0 |1100) HLS é{ . ST ® w5V
(1) WHEN SINGLE SCREW ROV ANCHORING METHOD IS USED SCREWS MUST HAVE A $3/4” Pty 51706 11050179 5 100 UndeProdur T =AY = AR
0.D. FUAT WASHER AT THE SCREW HEAD. 87 5/16 > g/ 8_179.6 1?-0-3 g g'g 191?’60 ;0-0 :10-0 pzit 005 I« B GZE ..
(2)  CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ITW RAMSET/RED HEAD TAPCONS OR 28 3/8 | 80.0 |110. : 0} 80. 0} 80. : == ‘% o i QF m%msmgxﬁuo. Rx.
HILT KWIK—CON 1l (HARDENED STEEL OR S.S.). _ ' 82 5/16 31 3/8 |80.01110.0]80.0 |102.0]80.0 [110.0] 80.0 [110.0 22w 2 S 1636 _
(3)  2X6 WOOD BUCK MAY BE RiPPED DOWN TO 4 1/2" PROVIDING THAT REQ'D SCREW 10 28 3/8 80,0 ]110.0} 80.0 [110.0] 80.0 [110.0} 80.0 [110.0 *.’;,\%, {{QQ EET NO.
BUCK EDGE DISTANCES ARE MAINTAINED. _ . (O XN o 8
= (7T

Miggg Wy




DRAWM BY:  JCHECKED BY:
]I WA WS,
- mm;:ku mﬁfzi]ﬂ&
155 7/16" MAX. FRAME WIOTH - 116 11/16” MAX. FRAME WIDTH Ny
3
5" MAX. —r — 3" 3‘3”3”3“ 5’ ll3u[/3"113" 3’3"37.'[1 3”5”3‘5”3‘3" 4._I | 5!’ MAX. 5" MAX- — - b Az B.I’SHS:ILE.a:lLs:Il’ 33335330 )_i — 5" MAX. E
||l HI 5 HHH
<z vvv?vvv lll vlv LVAVA AR A v i 2 7z ‘ v 4 URUYTYS ATATATA AT AT v - |
1 m : 4 MAX. | RITE : > - r}wxx. g
y Z 7 7 7 ST e 2 |V ﬁ
B & . s
S g b OPPOSITE CPPOSITE | OPPOSITE N g % P \ GPPGSITE | OPPQOSITE N %
T <t
o |(EN T (EN TN BN = N PO A 0N B &
=2 e ST VAN e ST AT 22 e\ T ST VATINg _
o T Bff SIMILAR 'g K . n T B : \ — — 4 z
SRl f S @) (>_\\
TE 4 E
-5 @2 N + (:% i q-~*i~ Rl % T AN ek M | dHM__l_ l
=B LGCK , | LGC : T8 \ ” |
R il i 12" uax. 8% 2 I : /_@ tzogAx.
Y, J /_HA@QLE /H{g?)LE ) 0.C. " 2% A 1 7 wawore HANDLE ’ o : 253
85 . T sEe / o
o — R T w0
- g ® HINGE MIDDLE ANCHOR SHOWN AT Y% o I -/ MIDDLE ANCHOR SHOWN AT Qél?
2 g MEETING STILE END LOCATIONS & <= ul - MEETING STILE END LOCATIONS A SR
= IS ONLY REQUIRED WITH SINGLE =% ! / IS ONLY REQUIRED WITH SINGLE ilg_,olo
o | ROW ANCHOR CONDITION (N/A AN | Y, ROW ANCHOR CONDITION (N/A ; ﬁ ;@38 I
S B l WITH DOUBLE ROW ANCHORS) @\ 3 N By @_\ WITH DOUBLE ROW ANCHORS) % L) e
< o=
o HINGE , N @ | / HINGE Y, HINGE/, o gh =
i 7 7 | l Y/ | Al Y4 /! | 2| o s
L i—my I % 7 4 MAX =5
4 AOARBRAA LAJMNAAKRALR Y Y- Y YA Y i BAKNADL L BLALANEA Q Pl ’ g i
\ < £
3 / b 3 s =
g / &I eo
FRAME SCREWS WHERE i o
SHOWN, SEE "FRAME \ N B
ANCHOR REQUIREMENTS , S| 255,
INTERIOR ELEVATION: glé%bEI;E%t\éN%EET1 FOR INTERIOR _ELEVATION: | = 2 $ud
(1_DIRECTION FOL DING PANELS) (APPLICABLE TO SINGLE (1 DIRECTION FOLDING PANELS WITH SWING PANEL J o™ %%%“'
SCALE: 1/2" = 1'-0" OR DOUBLE ROW OF LOCKING TO JAMB) " S =38
SCREWS): SCALE: 1/2" = 1'-0” R Eu‘igg
{ACTIVE SWING DOOR SHOWN WITH MULTI-POINT LOCK. 2o £33 s82
DEADBOLT/FLUSH BOLT LOCK COMBINATION ALSO APPLIES) 53@ E
¢ fess |
FRODUCT KEVISED PRODUCT RENEWED
- tdu:ap%{g with the Floride ?&ﬁ;ﬂg%t‘ff“-“ the Flortda
€
WI1en Acee N 1.- 02-"/-0
N .swaﬁfnﬁ?nﬁzﬁgf ot :gn,, . |3
1 I i ¥ ' % ’ \ i 51'
mlciee | Lete B e SR By, s
Minsl Dﬂdfmﬁ@i}m [ h’ﬂm{'ﬂCﬁBf 2 . q-_-;\ Q‘ .o'° * °o<9 ‘:’ e
k - S¥eNe e
| §%£§ S0y i
Sai Ix EER
228 9 b oY
=% Z ) S BRAVING MO THEv,

1636 | A

| S
e : %, oY %pﬂo‘\\,\\ SHEET .
- ’““"“5\\ 2 o 8




Tho 1

[ORAWN BY:

CHECKED Er:

J.le' WHS,
1 DaTE:
=24 11/23/02
153 15/16" MAX. FRAME WIDTH - 116 11/16" MAX, FRAME WIDTH — e o '
5" MAX. r» PEPPPIRL AT BEEER SPPPEEL /AN _.1 57 MAX. 5" MAX. -—— l_ PP PPV ~I - 5" MAX. % 4
1111111 & 17 |1 HIHI 5 - | 5/ 1111117 1T & |
v LA AvA A s VYRV OYYy BT AVA AR A 2 v VVVYVYY VUYVYVVY v 7 MAX z
4" MAX. . =
l " I < | B = = d &
y Z 7 7 e T 7 7 Z B |
7] . ’ ' 2 — ]
<1
% 7 f\b op/_usE /\ N\ GF?)_S{E A % 73 /_\:’ %_\ r ﬂmﬂ%ﬂ: ! OPFOBsriﬁ ]
S5< |/B F H B S< /B =
gng @'ﬁ \@/v/\y v\\s_/‘? g%wv/\@/ ¥ NGVA 1 TS 5
Es | INACTIVE ACTIVE ’ £ /
=75 . =7 (::}——\ | 1:)—\
f % 3 g%(\ @_\ @\ N | l?_' e 3 R / LOCK L8CK " [ I
5 % HINGE L 24) » R 4 12" MAX.
o= /@ DEAGBOLT ) 12 MAX T3 < | /_@ 0.Cc Q
z g o4 HATIDLE 5 § ’ 0.C. Y. JIB HANDLE HANDLE ? "~ gg T
~ d . = =9
~- | P | N g
- @
RS MIDDLE ANCHOR SHOWN AT \ T / % \ MIDDLE ANCHOR SHOWN AT ; Eoéup
27 g 31 3/8” MELYING STILE END LOCATIONS I d = b MEETING STILE END LOCATIONS 8.: |
=% = wax. oo, T[] 1S ONLY REQUIRED WITH SINGLE \ / =% N\ IS ONLY REQUIRED WITH SINGLE :JJ%E:IH;
o Bt ROW ANCHOR CONDITION (N/A o \ ROW ANCHOR CONDITION (N/A gl £UE3
;5.% M /_@ WITH DOUBLE ROW ANCHORS) \ A@ Kl ;}g H /_@ WITH DOUBLE ROW ANCHORS) d % < joo
@ HIRGE e Wk e N o HINGE ' B =
et / / I I s / R » | 1 // I | /// . é I
l b - 21 A Z. "T}*ﬁx ‘ 7 » Z T wAx Z g
. ' [a]
3 AEBRALEA LYY .y AEEABAS i KAAAEDE BELAALD & { 2 [
q T q . 2 J;
2 K : 3 b= -
z 5‘ Il B % ‘\ 2 (58
; ' FRAME SCREWS WHERE ] % =3
! \ SHOWN. SEE "FRAME- ! -1 5 g |
| ANCHOR REQUIREMENTS 2| 288,
INTERIO EVATION: TABLE" ON SHEET 1 FOR INTERIOR E1FVATION; =l 2, gﬁgi
(1 DIRECTION FOLDING PANELS WITH DOUBLE SWING APPLIGALE 10 SNGLE SWING PANEL LOCKING TO 1 DIRECTION 1) ek
PANELS) OR DOUBLE ROW OF FOLDING PANELS’ m | B2 E%%I]
SCALE: 1/2" = 1'—¢" SCREWS). SCALE: 1/2” = 1'-0" NS 854
(ACTIVE SWING DOOR SHOWN WITH DEADBOLT/FLUSH BOLT LOCK (ACTIVE SWING DOOR SHOWN WITH MULTI—POINT LOCK. A ggé g8 2
COMBINATION, MULTI-POINT LOGK ALSO APPLIES) _ DEADBOLT/FLUSH BOLT LOCK COMBINATION ALSO APPLIES) o ggg |
£
' RO
s Sx3
FRODUCT KEVINED
| Aseeptanes No [ D205 RONRR, I (024, 0Y oVeR K893, |12\
Expiration Daste p _ W CE reon I %, 10
3 i \ Expiration Date_ & & - ., '{9 3 g :
| w_Cheg [ Llacle o)1 feach XS RN X b
Siaset Dalé Pro! A hilaml Dadg/Prode Comieg SR T SHLAE :
Sxll T g gEis
25 0 RBafO: %
f"% *,, - & f’-’\' e =
%‘5’&"’%...“..» Q‘Q’? K e igom o
ol xRt L 1636 | A
’i’a”“““\ \ :;)SHEEF N0, 3
OF




[ : i T — N P;.O:‘R“: -mrsttw'j :
/ '/ \ 1=74 VAT ]
. ol BN (U NN U II
- N o |
N AN / % |
T I | -
N BN N || TN : “
e g — | — ) — |l -— — I —
N A N g ‘
l 4 N N % ’ U % “
¢ 7 4 < T g v 7 — AN VT ' '
NN N NS N NN NN VN o
: S . 2%y
72 N . ] AR
1 \ + be st
lr\ /’ "—h E PHODUCT KEVISED _ é§§§i
&4 ¢om [in ]}
NN NN N 7 ' o S20 | & | 8RS
r 1 \/W lofio 1/ B
. | NN\ M La ol % :
{ I T O ig |
PRODUCT RENEWEY b % {
] - B0k | 5| 28,
| = | g'yhﬂli‘;‘ ) s 5 > % gé Egé
¢ - . . efProduet Confry- | 2,9l
\/ \/ \/\/ ol ag Egy
A ﬁd Sgé
7 ) [ ”13 gé u%;:r:;
| ‘3. TR
I =0 [ER0 §9F
L JJ
! ¢ [3=8%
554
\\\\““;’g’l;,, |
‘ W et R AL/ £ o
N NN\ \/ NN\ §\§f,o----'~-e..fﬁ9’% A\ S g
. Sar.;?m & 3%-3"2. § o |G|
_ - =Pz g FaE e #g
CONDITIONS SHOWN ARE THE MAJORITY OF WHILE UP TO 8 PANELS IN ONE OPENING 210 3 * G GIZEIE 2y
THOSE USED. OTHER CONDITIONS OF FOLDING S SHOWN, THERE IS NO LIMIT TO THE 2z 2 PESS |8
& SWING PANELS APPLY PROVIDING THEY ARE NUMBER OF PANELS IN ONE DOOR FRAME PG E:
WITHIN THE SCOPE OF THE DETAILS WITHIN OPENING PROVIDING THE OPENING IS LTINS
THIS DRAWING. : DESIGNED TO SUPPORT THE LOADS Perppp | 656 A
TRANSFERRED FROM THE DOOR SYSTEM } e
- OF




SUBSTRATE BY OTHERS
PER "FRAME ANGHOR
REQUIREMENTS TABLE"—\

CEN YL

PR,

FRAME SCREW WiTH

3/8" MAX. SHIM
[ AT EACH ANCHOR

SUBSTRATE. BY OTHERS

WASHER PER ELEvATION PER 'FRAME ANCHOR

REQUIREMENTS TABLE”"

K wea W aeocr
B i,

WASHE

PR ) el

FRAME SCREW WITH
R PER ELEVATION

_3/8" MAX. SHIM
AT EACH ANCHOCR

S T
/\—SEALANT 8Y

OTHERS

G
OAN

FRAME HEIGHT -

SEE GLAZING _
DETAILS ON \/,,
SHEET 7

L
)

1/4" X 1 3/16"
SLOT AT EACH
PANEL MID—SPAN

SEALANT BY

OTHERS

. "~
FCEIT L S -

| 3/8" MAX. SHIM OR
GROUT AT EACH ANCHOR

FRAME SCREW WITH
WASHER PER
ELEVATION

SECTION &y
SCALE: 1/2 FULL \ 5/

{ PROFILE SILL RAIL CONDITION

T
SUBSTRATE BY
OTHERS PER
"FRAME ANCHOR

REQUIREMENTS
TABLE"

* STANDARD LOW PROFILE SILL RAIL CONDITION SHOWN. SEE
"HIGH PROFILE Sil. RAIL DETAIL” ON SHEET 6 FOR HIGH

* STANDARD SILL CONDITION SHOWN. SEE "FLUSH SADILE SILL
DETAIL™ ON SHEET 7 FOR ADA SILL CONDITION )

cae ¥ oA
,L
K

- SUBSTRATE BY — "k
QTHERS PER &
"FRAME ANCHOR |

REQUIREMENTS 7.
TABLE” o

FRAME HEIGHT

oy

SN OISV S ——
P ceaar gy WITH WASHER D
OTHERS PER ELEVATION ¢.*

: "

ODUCT KEVISED .

:’:{maplyhg with the Floride f.{
Buiden o % 042505 P

Papirasion Date 25 L1 3 el

SEALANT BY OTHERS

#

{ . j 5 ./f {
LG beoniy {20 fopude

EXTERICR

3/8" MAX. SHIM OR
GROUT AT EACH ANCHOR
FRAME SCREW WITH

WASHER PER ELEvaTioN  SECTION

R

SUBSTRATE BY OTHERS

Bl Dade Fredind Costih o0 0y 1y

AT EACH ANCHOR

FRODUCT RENEWED

2 complyln whb the Florida (FOR SEAL AT HINGE LOCATION NOT_SHOWN, SEE SECTION C/5)

0
O@x ©f

iﬂf{@,&‘«\\ﬁﬁ" e

%—M—%ﬁ S /'\-SEE GLAZING
I..‘H.S i

Buldiog O

/]

SECTION

FRAME WIDTH

/B

SCALE: 1/2 FULL \5/

PER "FRAME ANCHOR

REQUIREMENTS TABLE"

A

SCALE: 1/2 FULL \ 5/
(FOR DETAIL NOT SHOWN, SEE SECTION A1/5)

INSTALLATION CONDITION SHOWN
IN THESE SECTIONS IS FOR A
SINGLE ANCHOR ROW CONDITION.
FOR THE DOUBLE ANCHOR ROW
CONDITION, SEE "DOUBLE ANCHOR
ROW DETAILS™ ON SHEETS 6 & 7

1k

E

]"_

\

o/® ASNNEE

SECTION

(20

SCALE: 1/2 FUIL \3/

CONTINUQUS SILICONE, SEALANT BETWEEN MEMBERS

6,8

(FOR HINGE DETAIL NOT SHOWN, SEE SECTION B/5)

O @

L/
Y
/\—SEE GLAZING

By

34

(=)
3 0 ]

ya v
= ™~ - - p:¢ )
r i@ 5 'S:I:,;‘,%z 2

DRAWTE BY:  (CHECKED BY:
WRY, WS,

OATE:
1=2 11/23/09

|
PLOT:

DATE

REVISION DESCRIPTION

NQ.

DETAILS ON

DETAIL ON
SHEET 7

SL—73 IN—-SWING IMPACT FOLDING PANELS

WING TITLE

EXTERIOR] 80

® ®” © 0
SECTION R GI)D)

SCALE: 1/2 FULL \5/
(FOR HINGE DETAIL NOT SHOWM, SEE SECTION 8/5)

NANA WALL SYSTEMS, INC
800-873~58673

707 REDWOOD HIGHWAY
MILL VALLEY, CA 94941

ANUEARCTURER

il

| PA (CA 6809)

7480 150TH COURT NORTH

PALIK BEACH GARDENS, FL 33418
PHONE: £81—744~3424

W. SCHAEFER ENGINEERING

& CONSULTING

-
Ty,




SUBSTRATE—"
BY OTHERS '

PER "FRAME " [Ner-utia T,

ANCHOR AN
REQUIREMENTS;
TABLE”" :

4..‘

FRAME*-/.‘:'{‘.
SCREW WITH
WASHER PER:}- .

Vo
i

ELEVATION i
" | ©
3/8" MAX. SHIM FRANE. WIDTH
AT EACH ANCHOR i
SECTION

SCALE: 1/2 FULL 6./

(FOR HINGE DETAIL NOT SHOWN, SEE SECTION B/5)

28)

CONTINUOUS SILICONE
SEALANT. BETWEEN MEMBERS

SR

N WS

23

SCALE: 1/2 FUlL \&/
(FOR DETAIL NOT SHOWN, SEE

OTHER SECTIONS)

SCREW WITH .
WASHER PER’
ELEVATION "

SEALANT BY
OTHERS
D SEE GLAZING DETALLS ‘ z
ON SHEET 7 ] :
.‘.l i b . .:‘,‘ . ey
N /@ - -'(‘ AT oY OTHERS
0 ' i "3
]{ SN ) [ﬁ 0 : PER “FRAME <.
0 ANCHOR "
-~ N‘ Ly Q © \@ REQUIREMENTS
l;vinmmg [ 1 | | (21)46) . TARE
5 NS SECTION /7 FRAME—"

DRAYN DY CHECKED Bt
R WWE,

PLOT:

DATE:
f1/23/09

1=2

: CONTINUOUS
. SILICONE SEALANT w
1 hLANT BY BETWEEN &
MEMBERS
L ! E
T i

K/ @ A :
l EXTERIOR 5
: G I A 2
B0 BIon || Rl ~ 4
W‘ e z
1\ ! & B ”/ :
.vel'lf Csee atazing |12

;g‘:.unntnwi‘g,g » -‘DETAILS ON

3/8” MAX. SHIM
AT EACH ANCHOR

{MULTI-POINT LOCK HARDWARE SHOWN. DEADBOLT/FLUSH BOLT

| FRAME WIDTH
SECTION 7N
. SCALE: 1/2 FULL \ 6/

LOCK COMBINATION ALSO APPLIES)

CONTINUOUS

SILICONE %)

SEALANT : EXTERIOR

BETWEEN Y\@

MEMBERS ®\ & jﬂ /®
g [ 177 ARNS ‘

(36)
«j)'ﬁ'. Sah N

CONTINUOUS S \@
SILICONE SEALANT
BETWEEN MEMBERS

SHEET 7 ’l

EXTERIOR

SILICONE

707 REDWOOQD HIGHWAY
MILL VALLEY, CA 94841
800~873-5673

NANA WALL SYSTEMS, INC

9
[T
z
a
g &
i SILICONE 5 G
J @ ~ [ _ SEALANT\ SEALANT | = IS
L/ L!Il : 3 ydtogprpn s e C AP B EAD “ CAP B EAD i g
O L L 2 : 5 -
) Ry o]
5 £ - A-see cLaznG &l eg
- G 5 ol -SEE GLAZING : DETAILS ON 2| BC .
DETAILS ON . SHEET 7 ol Ug .2
! SHEET 7 z| 2257y
6 63 CONTINUOUS 36) P 7 et
. SILICONE SEALANT _ V® z| e, 887
CONTING BETWEEN SECTION — o | 52 £88
oA O ILICONE 57) — CONTINUOUS SILICONE ~ MEMBERS SCALE: 173 FUIL 6. LT g; 2y
MEMBERS (28125 SEALANT BETWEEN (FOR HINGE DETAIL NOT SHOWN, SEE SECTION B/5) (48) =5 £33 g8
26 MEMBERS A Ei =
1 = 3;0 L
CT RENEWRD : gL
SECTION /7 \ﬂﬁ Ecompiying with the Forddn Il EEL
SCALE: 172 FULL \.6/ (D Budiag Code 2 24.0Y ;
- i
o i e o S Wy P el L T TET
) /g/ ELEVATION (DOUBLE m n-(ﬂ‘-(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) 3 \& i
SEALANT BY ALY screw row) i A FroAwi Cotes = by
OTHERS M " PRODUCT HEVISED \\\m Wiey I, = 8-%
I R AR O . N L ) & R s B 23 enmplying with the Floride \“?}“ ‘k&g ‘) & Fuj
Pt e LR TR L T T R Qode D AR NG, 9’2’ % 8 o
A Sl L Ascoptasce Mo (4 -042Y 03 S o e, %
' Explretion Datg__ 0357 /77 w0 .'°.¢*"§-
‘ e L e N A A U z% 3 e
SUBSTRATE BY OTHERS , 3/8" MAX. SHIM OR ? ; S92 Y
PER “FRAME ANCHOR Z 1/2 MAX. / . und by iz =1 o2 5 DRAWING NO. |REY.
REQUIREMENTS TABLE" GROUT AT EACH ANCHOR =2 15 R EE A
DOUBLE _ROW ANCHOR DETAIL_AT SILL AL g & 7§ Q2| sveer w0,
(FOR DETAIL NOT SHOWN, SEE QTHER SECTIONS) X R SRS 6 o+ 8
L o ST YT '{(‘7! %‘\“ *
% YRS P“o\\\\‘
T




DRAYWH BY: C*EC‘K;C; BY: ]
SUBSTRATE BY OTHERS PER o
FRAME ANGHOR REQUIREMENTS FRAME SCREWS PER ELEVATION CONTINUOUS WOOD MEMBER LESS IN THICKNESS THAN A Lo 72
TABLE (DOUBLE SCREW ROW) 2%_ BUCK TO BE MIN. 3 1/2" DEEP (NOT REQUIRED WHEN I
ey e LING S CEL e SHIM SPACE IS WITHIN ALLOWABLE DIMENSIONS SHOWN IN g
ISR M ST A . W I NP, ity _
: SECTIONS). SUBSTRATE BY OTHERS
. ' PER "FRAME ANCHOR &
3/8" MAX. SHIM _ REQUIREMENTS TABLE”
i‘m EACH ANCHOR e SN B Nz
.P.:a':‘. "-'-. E
TR P __-‘ * 3o 9 ] g
A kO t a
: : FINISH ) (U]
SEALANT Y U SEALANT BY-~, FLOOR BY SEAMT BY u FRAME SCREW 113
OTHERS BTN 7] OTHERS WITH WASHER- ]
8 VAT » Sl PER ELEVATION ||™
e , = SHIM OR
: NEY [ : GROUT AT | . ANCHOR
: : 5 EAC TABLE
m FLOOR BY : T f
. OTHERS i R T "_ Toerta Wl .": :', ‘.;_:‘ "‘: D “
SUBSTRATE 8BY OTHERS : - W SHER PER O, .
a PER "FRAME ANCHOR E'ﬁé\i}ﬁlgﬁ% WITH WASH 23y
i REQUIREMENTS TABLE" w%gﬂ
. =M~
EXTERIOR FLUSH SADDLE SILL DETAIL EXTERIOR ; T L8
—F (SWING DOOR SHOWN. FOLDING PANELS ARE INSTALLED THE SAME) ga_p'
DOUBLE ROW ANCHOR DETAIL AT HEAD & SIDES (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) LU
! OUNT _DETAIL =
(FOR DETAIL MOT SHOWN, SEE OTHER SECTIONS) (DOUBLE SCREW ROW DOES NOT APPLY TO THIS DETAIL) O]?I:gogﬁtéspl'?;ﬁ%%r V??TE’?NSPACER g@gg
(HEAD SECTION SHOWN. SIDES ARE INSTALLED THE SAME) c <"
WHEN AN ADA/FLUSH SADDLE SHL iS USED, THESE DOORS ARE (HEAD SECTION SHOWN. SILL & SIDES ARE INSTALLED THE SAME) s o

SEE GLASS OPTIONS BELOW“ -

NON—(.G. GLAZING DETAIL
GLASS OPTIONS 1 & 2

RESISTANCE 1S REQUIRED B8Y THE DOOR UNLESS UNITS ARE

INSTALLED IN NON—HABITABLE AREAS WHERE THE UNIT & THE
AREA ARE DESIGNED TO ACCEPT WATER INFILTRATION OR THEY
ARE INSTALLED ONLY AT LOCATIONS PROTECTED BY A CANOPRY
OR OVERHANG WHERE—BY THE OVERHANG{OH) RATIO IS EQUAL
TO OR MORE THAN 1.0 PER FBC CHAPTER 24.

SEL GLASS OPTIONS BELOW ~—-l

3/4" BITE

EXTERIOR

.G. GLAZING DETAIL
GLASS QPTIONS 3, 4, 5 & 6

GLASS_OPTION 1: 7/16" LAMINATED GLASS (3/16" GLASS OPTION 3; 1 1/8" I.G. LAMINATED GLASS (3/16" H.5./0.09 DUPONT

H.S./0.09 DUPONT SGP/3/16" H.S.)

SGP/3/16" H.S. INTERIOR; 1/2" AIR SPACE; 3/16" TEMP. EXTERIOR)

GLASS QPTION 2: 7/16" LAMINATED GLASS (3/16" GLASS OPTION 4; 1 1/8" I.C. LAMINATED GLASS (3/16” H.S./0.09 OUPONT

AN./0.08 DUPONT SGP/3/16" AN.)

SGP/3/16" H.S. INTERIOR; 7/16" AR SPACE; 1/4" TEMP. EXTERIOR}

GLASS OPTION §:; 1 1/8" 1.G. LAMINATED GLASS (3/16" AN./0.09 DUPONT

SGP/3/16" AN. INTERIOR; 1/2" AIR SPACE; 3/16" TEMP. EXTERIOR)
GLASS OPTION 6: 1 1/8" I.G. LAMINATED GLASS (3/16" AN./0.09 BUPONT

SGP/3/16™ AN, INTERIOR; 7/16" AIR SPACE: 1/4" TEMP EXTERIOR)

(SINGLE SCREW ROW INSTALLATION SHOWN. DOUBLE SCREW ROW
ALSO APPLIES)

RODUCT KEVISED .
:s complylng with the Florids

Code
Buidieg No JE~

g0k

SL—73 IN-SWING IMPACT FOLDING PANELS

MANUFACTURER

PRODUCT RENEWED 98
23 Complying with the Frark =%
?H{ng(};ﬁ Z. / E: 7
seepfance No //~ s Ol
Expiration Date Z EZD-V gm &
Wy [Shan [, I/ b gad
Pl Do Prodct Coniel  .387
Y -5a
%5 Gz
=T £
=g |60 §8E
o |5..8573
= z,?:o &
' E
T
et y .
\) /
\"“%ﬁj‘--sﬁgsg/p’i’i = G
q&‘ L 6'% 4{9’&’ -c-:; e
R ATy 2, o [
20 .'Zf)“ 4 wx% O uy
ol 24 3 - Q % .
20w 3 0% .1 Jg
TR i AR T N2
FAE TR g Of o~ '
- e T Lyl
o‘% ‘.) < /2] 4 Q [
:’\» .'. 2 o"&:)-' &
’/ 6’ '...t y C’g ‘S‘ 5
’IJ b, 3apenst Q@\Q\ =
’I” KP W DRAVING NO. | REV.
ham |I 1636 A

SHEET NO.

"7OF8




DRAWN BY:  [CHECKED BY:
TEM §1{ - ITEM DESCRIPTION - MANUFACTURER /NOTES ITEM # ’ ITEM DESCRIPTION MANUFACTURER /NOTES L L
PARTS FASTENERS - 2 |
1 [FRAME/STANDARD RAISED SILL 6063-T75 ALUMINUM 48 |1/8" RIVET 6 PER KICK PLATE "
2 | ADA/FLUSH_SADDLE SILL. 6063—T5_ ALUMINUM 49 [NO. 8 X 1" SMS SCREW WITHIN 4" FROM CORNERS & MAX, 16" O.C. 3
3 [PANEL STIE /RAIL ' 6063~T5 ALUMINUM 50 [NO. 10 X 3/8" FH 5.5. MS 4 PER HINGE
5 [SUDING PosT 6063—T5_ ALUMINUM 51 [3/16 X 1/4 S.S. SET SCREW | 4 PER HINGE
6  {POST 6063-T5 ALUMINUM 52 |NO. 8 X 1 1/4" SMS SCREW WITHIN 4" FROM CORNERS & MAX. 16" 0.C.
7 [NON-1G. GLAZING BEAD 606315 ALUMINUM 53 |NO. 8 X 2 3/4" SMS SCREW WITHIN 4" FROM CORNERS & MAX. 16" O.C. g
8 |16, GLAZING BEAD 6063-T5 ALUMINUM 54 |NO. 8 X 1 3/4" SMS SCREW WITHIN 4" FROM _CORNERS & MAX. 16" 0.C. &
9 [KICK PLATE 6063-T5 ALUMINUM 55 |NO. 8 X 1/2" SMS SCREW 2 PER CLIP g
10 |STILE/RAIL EXTENSION 606315 ALUMINUM : ‘ _ | §
11 |STILE/RAIL EXTENSION 6063—T5 ALUMINUM . g
12 |FRAME CORNER KEY 60635 ALUMINUM
135 |PANEL CORNER KEY ' 6063-T5 ALUMINUM g
14 |PANEL CORNER KEY B063-T5 ALUMINUM
15 JREINFORCEMENT CLIP (4 PER POST, 2 FACH END) S.S
| HARDWARE
18 [UPPER GUIDING TROLLEY NEIDERHOFF OR DELLENBUSH 15~71-53—1
ROLLER REINFORCEMENT WESTERFELD 15-73-78-X S.S. 2xyq
19 |BOTTOM ROLLER & NEIDERHOFF OR DELLENBUSH 15-71-50—1 e
ROLLER REINFORCEMENT WESTERFELD 15-73-78-X S.S. 5295
20 | STEEL INSERT ROLLER TRACK WELSER 5--66-09 'go"“?
21 [BUTT HINGE . | BURGHAUS 15—0~2210-190 DIECAST OR Sk
IBW IDEAL 15-0-2227/8-120 S.S. ==
22__|CONCEALED 2-POINT LOCK EURIT_SRL 15-0-2001—1 4 ESTESS
23 |3-POINT MULTI~POINT LOCK VBH GMBH 15--60--27-1 z| sng
24 | DEADBOLT VBH GMBH_15~0-210-109 &1 ERS
25 | OPERATOR HANDLE AS REQ'D TQ OPERATE 2 & 3-POINT LOCK (®)1 BEAD o “
26 |OPERATOR HANDLE AS REQ'D WITH PUSH/PULL SWING DOORS g &
27__ | GONCEALED 1-POINT LOCK EURIT_SRL, 15-0-2001—1 ek
28 {CONCEALED 2-POINT LOCK WIHL. SCHLECHTENDAHL. & SOHNE 15-0—2i8 (3) PANEL STILE /RAIL 0071 s B
SEALS & SEALANTS el .o
31 [WEATHERSTRIP ~ | DURAPROOF OR TREMCO 25—0—1052—195 0.118 ~+|-- (8) SLDING POST e | 28
‘ EPDM - : ’—\ 2.953 71 |5 ﬁé 3
32 |PILE SEAL KULLEN GMBH 25-0—1065—171 POLYAMIDE 0.827 w z| 22E5,
33 |COVER GASKET rROOUCT KEVISER e - | JAGEER GUMMI UND KUNSTSTOFF OR TREMCO N . 3 %4 i
'.i.‘J;I‘"’Mjﬁ, o | 25-0-1054-195 EPOM 0.719 E,.\ - 0.059 . i %’3%
Acceptanee Ne T2 00 ) -0- - 01 b ) = g 021
35 [FILLER SEAL Acceplanes mmfé ESSSPROOF OR TREMCO 25-0-1084-155 1:; p(\)x‘ﬁ :§: e @ o %g 58
36 |PANEL GASKET by G siabn gt | DURAPROOF OR TREMCO 25-0-1036-195 | EXTENSION CORNER. KEX R T 1
Hku;mﬂm“' EPDM . : DEPTH = 0.523 = :;U) é(’f% Eé‘l
37 |CONNECTOR DURAPROOF OR TREMCO 25-0—1056—195 1'345" - & |E '@’30 &
EPDM —U ﬁ /] (90 EANEL CORNER KeY & [iE [E=%
38 |PANEL GASKET SYNCAMER GUMMI OR TREMCO (9) KICK PLATE A 0.630 ~ |~ \\'@‘?‘\“ ;gm, .
25-0-1050-195 EPDM f (D ste/mAL L 0050 RO gk Ay,
39 |EXTERIOR GLAZING GASKET (DUROMEIER = 56) TREMCO TX16702E EPDM — ﬂLL_EXTENﬁ[QEI 0.787 o945 __I 1 024 i | S
40 [INTERIOR GLAZING GASKET (DUROMETER = 70) TREMCO 25-0-1007-X_EPDM "’l‘:”’ 0.020 ' 1] FL g
41-43 | DEBRIDGING/THERMAL BREAK ENSINGER, INC., TECATHERM 66 GF 0.350 S CZL‘Q‘TL t 0 0&;1 f =% g’fg
INSULBAR POLYAMIDE 2.118 | 0.315 T A 0.079 225
45 |GLAZING SHIM | GLUSKE, PVC | THERMAL BREAKS XA
4 [1/2° X 3" X 1/16" THICK GLAZING TAPE ADHERED T0 EA, HINGE AS A SEAL ™~ 0.848 4 <aunplying with fot Florbda EX
| | 1 SR < o N T %
(15) REINFORCEMENT CUP ¥ GlaziNGg. . mgfg; gzmgg 8y | T eyl SHeeT 15,
LENGTH = 0.787 GASKET GASKET B o 8




